
名まえ

日にち：　　　月　　　日

・次の図のような立体の体積を求めましょう。

①

答え：

答え：

③

答え：

②

⑫ 仕上げ

底面積：

体積：

底面積：

体積：

底面積：

体積：

12

8cm

8cm
9cm

7cm

2cm
2cm

9cm

2cm

３cm

６cm



名まえ

日にち：　　　月　　　日

・次の図のような立体の体積を求めましょう。

①

=

答え：226.08

=

答え：508.68

=

=

③

=

答え：

=

=

98

②

=

⑫ 仕上げ 答え

底面積：

体積：

㎝3

底面積：

体積：

㎝3

底面積：

14

体積：

㎝3

12

４×４×3.14÷２

４×４÷２×3.14

８×3.14

25.12

25.12×９ ＝ 226.08

９×９×3.14÷４

81×3.14÷４

81×0.785

63.585

63.585×８ ＝ 508.68

６ ＋ ２ ＋ ６

14×７ ＝ 98

8cm

8cm
9cm

３×２ ＋ １×２ ＋ ３×２

7cm
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2cm
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３cm

６cm


